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4. Write the full electron configuration (1s”2s%, etc.) for each of the following element.
(1) Bromine, Z=35 (3 4 )
(2) Xenon,Z=54 (3 &)
(3) Barium, Z=56 (3 &)
(4) Selenium, Z=34 (3 5 )

5. One step in the commercial production of sulfuric acid, H,SO,, involves the
conversion of sulfur dioxide, SO,, into sulfur trioxide, SO;. (molar masses: SO,,
64.07 g/mol; SO;, 80.07 g/mol)

280; (g + O2(g = 2805 g
If 150 kg of SO, reacts with oxygen completely, what mass of SO; should result ?
(10 )

6. A certain nuclide has a half-life of 35 years. After 140 years, 3.0 g remains. What

was the original mass of the nuclide sample? (10 4 )



